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CHEMISTRY

\/8/1"/'" For the ozone molecule, the atom numbered as 3 will have formal charge

82.

83.

WIS 3 31e411ed fofe vt STSH aiga wigeifie e carg-
1

.
N
&G

@ o ® +1
() B O +2

Three of the following species have identical bond orders. The species that has

different bond order is

W%m@m3mmwmﬁlmﬁwmﬂmaﬁmm-

N,, NO*, CO, 02"
@ N, NO*
© CO @ O3~

The pK, of acetic acid and pK, of ammonium hydroxide are 4.7¢ and

4.66 respectively. The pH of ammonium acetate solution will be

qQefis afbes pK, 4.76 % v’ AT 23g'wRes pK, 4.66 W, ORI Qi
pH %’3-

@ 7.005 0.05
© 7.05 O© 0.005
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g4. A first order reaction goes tg The rate constant of

lo 90% completion in 10 minutes.
the reaction is

F\

<51 29 FHE ST 10 S5 9%0% =

@ 0.2303 min—

© 0.02303 min—

,_
1o
N
Q9
=

0.02303 &=51 22 30 AEFL

85. A reaction X — Y follows 222 order Kinetics, doubling the concentration of

X will increase the rate of formation of Y by a factor of

ZBTIRE Y OE /AN W 3’3-

Somenmun e X > Y 3§ X-39709

@ 2 ®

B | =

© 4 @-i—

/86./The geometry of the interhalogen compound BrE; is

SwerEr e @ Bris F TS T3

@ Trigonal planar Tetrahedral
e in RFE FHOAR ESaaanat

© Square planar © Trigonal bipyramidal

g oAl fare1fin TFE Rl
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87. An organic compound A on treatment with aqueous NH, and heating form
compound B, which on heating with Br, and KOH forms a compound C of
molecular formula C¢H,N. The compound A is

901 (@ @1t A @ 59 NH, (0w 57)-3 o19f@ fiferan 3y B $es7 @ | B-&@ 99 Br,
=¥ KOH -3 &+if*3s C $eota 7 19 11 7wat (arg CgH, N | @er A =%~

@ Benzoic acid Benzonitrile
@ RE afty [SRRICIAEG
© Benzamide @ Toluene

SRS | b

\/88./ In the following sequence of reactions, X is

Bry,/H,O NaNOy/HCl Boiling
X >Y 2 3 h——— 2
ETOH

1, 3, 5-Tribromobenzene

Gerq fifEatenfie X -3'3-
X B0 .y  NaNOyHCI .,  Boiling 1, 3, 5-513qW’ @R

ETOH
@ Phenol

®

2, 4, 6-Tribromophenol

e 2, 4, 6-G3a°’ frqey
@ Benzoic acid @ Aniline
R R «fts «f3feq

89. /The sequence in which the a -aminoacids are linked to one another in a protein
molecule is called its

AfbTs a-ammﬁgmaﬁam@mmmmqﬁ&mm (FIAT =Y~

@ Prima:y structure Secondary structure
SRR D] RS 15
@ Tertiary structure @ Quaternary structure
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90.

91.

92.

9

At 300 K; 28g Nz and 64g 02 gases are mixed. The value of Po, : PN, 1s
(p represents partial pressure)

300 K T®616 28g N, w1@ 64g 0, g fiffre 341 Ta | Po, . Px, 7 79 23 (p (&

CINEERIGY
@ 2:3 ais
©1:2 @ 2:1

At 298 K, the degree of dissociation of 10°M methanoic acid solution 1s
(Ka = 2.1x107)

998 K Gwsts, 10~ M R afts e frorem mar 27 (Ka = 2.1 10°%)
@ o0.21 0.46
© o0.046 O 0.021

Which of the following acid will have the maximum value of acid dissociation
constant at 298 K?

298 K@mm,mﬁmmﬁaﬁmmwwmﬁw

@ ethanoic acid methanoic acid
ERIGIEERUIDI) T afte

© 9-chloroethanoic acid @ benzoic acid

9. RS af6T e afbe

FART SIEIT 9 TN’
@ Mg(OH), > Ca(OH), > Sr (OH), > Ba(OH),

Ba (OH), > Sr(OH), > Ca(OH), > Mg (OH),
© Ca(OH), > Mg(OH), > St (OH), > Ba(OH),
©® Ca(0H), > Mg(OH), > Ba(OH); > Sr(OH),

(33) CEE-2022
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94,

95.

96.

For the reaction 2A —— 4B + C, if

dlA] _ diB] _ dc] |
"’"“‘E‘t‘"“" :[A] f “’kz[A] ¢ "kz[A]

then,

2A ——3 4B + C faf@arcom aa, af

d[A] d[B] _ dC] _
___dT._kl[A] = =k [4] — = ky[A]
&3,
@ 3k, =k ky = 2k,
© 2k, = ky @ ky = 3k;

The value of rate constant for a reaction A is twice of reaction B at the same

temperature. The difference in their energy of activation (Ef — Ef) is

b1 A R sifszaes 7 9 Swote 9 <ot B [ifeais 139, 2z afeaT e 1w
(B2 - ED) %=

@ RTIn2 —92.303RT
© -RTIn2 ' D o

Gold (atomic radius = 144 pm) crystallizes in a fec unit cell. The edge length of
the unit cell is

0T (ARNIIES APTEH= 144 pm) foo 0B “H0F I8 $E | 9FF @RI WS i 27 |
@ 305 pm 407 pm
© 203 pm ® 610pm
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yme following reaction, the compounds A and B are
ooiq [Afrars A s B distang i

CH,Cl KMnO
> A 4 _»B
Alcl, ot

A B
@ Toluene Phenol
Cepad Rewyer
Chlorobenzene Benzoic acid
TR @RS afts
© Chlorobenzene Phenol
TR e
@ Toluene Benzoic acid
UGES! AR afts

98. The correct order of reactivity towards nucleophile is

oS TieR dfs fegee Y @HT (T

@ C,H,COCH, < CH,COCH, < CH,CHO < HCHO
C,H,COCH, <CH,CHO < HCHO < CH,COCH,
© HCHO < CH,CHO < CH,COCH,; < CgH;COCH,

® CH,COCH, < CH;CHO < CgH;COCH, < HCHO

B (35) CEE-2022
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99, Which of the following statements ia true for isobars?

et bt SR el (aw we, 9

@ Isobars are the atoms with same mass number but different atomic number
SNSRI IR A1 AT G4 PN G 55 AN I8 C@avars! 27 |

® Isobars are the atoms with different mass number but same atomic number
TGN CIYWIT AT T GITHIE (019! g AT ISR 7 2 |

@ Isobars have equal number of protons, neutrons and electrons
STUGINIIT N HU "G, FASHT e Zeetd’ s e |

@ Isobars have equal number of protons and electrons

ANGIATIITT AU o’ B o7 JAF'F A0 |

ich of the following has equal number of odd electrons?

T (FTADIS QTP S RTg S0 ?

@ Mn3+, Fea+ an*', Fes+

© Ti:“, CI"’H @ CI‘3+, FeS+
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101 Among the following, identify the element that exhibits only negative oxidation
’state

QT ARILF SULT AT (YT @ereiy o

Cs,Ne, I, F
@ Cs Ne
©1 © r

IW of the following is disproportionation?

SoTo Wl (POt Spiersa ffewar?
(@ 2Cu* - Cu’ + Cu®*
) 3Cl, +60H™ — ClO; +5Cl” + 3H,0

© 2H,S+80, — 2H,0 + 3S

(d) Na+ —~12—Cl2 — NaCl

@ () (a), (b)
© @), © D© (@, ®),

103. at weight of copper will be deposited by passing 2 Faradays of electricity
through a cupric salt? (Atomic wt. of Cu = 63.5)

frEhe TIeaT TS 2-(FdiG 5o BifeTs FRET SWT AT F79RT ARG 23 (31
AANIIEF ©F = 63.5)

@ 20¢ | 3.175 g
© 635¢ DO 1270¢

B ) CEE-2022
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\}@. The electrophile in Reimer-Tiemann Reaction is

® :ca, CHCI, ‘
© ¢y, _ ccl,

®
105, The hybridization of carbon in CH, is
\/ @
CH, -© 3173 733 7°3-
@ s sp”
© o )

sp’d

106. The product C in the following sequence of reaction is

oo faf@grenfae C -tg-

CGH5NH2 NaNO,/H(Cl S A CuBr 5B CH,Br
280K HBr

Br
® ©/CH2Br @/Br
& @/CHBrz 5 @,CH3

\JAas reagent is

I Rt Cxee-

5

—
Na/Dry ether

@ Zn-dust and H,0 ZnBr, and HBy

© Anhyd. ZnCl, and Conc.HCI @ Zn(Hg) and Conc.H(}
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108. Copolymerization of 1, 3-butadiene and acylonitrile in the presence of a peroxide
catalyst gives
o ERS SqIed SfEs 1, 3- RSt e AR S FrEAEa R I i
=3-
@ Buna-S ® Buna-N
-8 &N
© Nylon-6 O Teflon
F13e4-6 g
109. Ofloxacin is a/an
Eracin ey
@ Bactericidal antibiotic Bacteriostatic antibiotic
© Antimalarial ® Analgesic
oyt afs@E e

110. In a chemical reaction, 3 atoms of S are required per 2 atoms of Al. How much

gram of Al will be required per gram of S?
aﬁmﬁm@ﬁ3ms§wzm&3mmxxﬁ%msgmm
sy Al 7 A@SE 237

@ o056¢ 1.69 g
© 27.0¢ ® o.06¢g

B iy CEE-2022
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paof ¥ and G BEs

111 A the following soquation, the vaki

&

\PJ P

fiod 2 Cl, + 6O o> -'/,"ﬁfig vy} + S EE

worw forrt afiimacs x o0 y A WA T4 GO

£Cl, + 6OFE — Cl0, » yC0 + L
-
@ 4, 2 ‘F?’j o

© 5.3 D 2.4

112'/"'}"&% bond order of O}, O, O, and O zre respectively,
//

S

03, 03, Oy, @t OF 7 arafa stat wor

@ 2:5, 2,0,« 1»5, 1(0 @ Le(), 1-95, 21()" 25

© 25,1.5,20,1.0 ® 10251520

113. Which of the following ions in agqueous solution is colouriess?

e

GAL (1A SN wgnta N2 AR
® m ® m*

© co i

J  Cu?®
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114. A ug},‘t cellhas a = b # ¢ and ¢ = B = 90° and y = 120° the crystal lattice 18

‘ﬁﬁwmcj:b¢cWa:ﬂzgoomyﬁlzoommﬁﬁr{’a

@ orthorhombic cubic
e ot

@ rhombohedral O hexagonal
FRGA [“EIRMSE]

yeﬁng to VSEPR theory, the structure of IF; is
: VSEPR ©%< 7@ IF, 7 957 23

@ T-shaped ‘Square pyramidal
TS 50 P

© Trigonal bipyramidal @ Pentagonal bipyramidal
fagdiy RS AceTTffTE fa-Prafien

1187 The correct increasing order of ionic radius is

ST L BT BYFACT (W2
@ Lit < AP* < Mg® <K’ Li* < Mg? <K* < AI*
© w cmge <A <K O L <A <K g
B (41) CEE-2022
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117. The number of unpaired electron in [Co (CN),]"" is
[Co (CN) I~ © vt Srgen 3ra1gaa 4 '

@ 3
© o

® ®

[\

118. The optically inactive a-amino acid is

e A%y o -9fiq ufte 3

@ Glycine . Alamine
e «effaa
© Leucine @ Valine

ferGfoa oo

1 &9/foe oxidation number of Cl in HOCI0,, HOC10, and HOCIO are respectively,
HOCI0,, HOCIO, sns HOCIO s Cl T TR AT @y
@ +5,+7, +3 +7,+5, +1

© +5,+3, +7 D +1, +5, +7

. An example of anionic detergent is

QAT TANSFT 9F Srragel 147

@ Sodium stearate
e et

Sodium rosinate
7 o 3 fseat

@ Cetyltrimethylammonium bromide
eGERREear i 37 gs

@ Sodium dodecylbenzene sulphonate
7 foam & rofbamafagee e
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